DAYS TAKEN FOR WORK
Pearson Edexcel - Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier
1.

9 A company has to make a large number of boxes.

The company has 6 machines.
All the machines work at the same rate.
When all the machines are working, they can make all the boxes in @ days.

The table gives the number of machines working each day.

day 1 | day2 . day 3 | all other days

Number of machines working 3 I 4 . 5 o

Work out the total number of days taken to make all the boxes.

{Total for Question 9 is 3 marks)
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2.

2 Sam and two friends put letters in envelopes on Monday.
The three of them take two hours to put 600 letters in envelopes.

(a) On Tuesday Sam has three friends helping.

Working at the same rate, how many letters should the four of them be able to put in
envelopes in two hours?

(@) oo [2]

(b) Working at the same rate, how much longer would it take four people to put 1000 letters in
envelopes than it would take five people?

() oo [4]

(¢} Sam says
It teak twa heurs for three people to put 600 letters in envelopes,
If I assume they work all day, then in ene day three people will put 7200 letters in
envelopes because 600 = 12 = 7200,

Why is 3am’s assumption not reasonable?
What effect has Sam’s assumption had on her answer?



